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5. What form is used in this section to write an equation of a 13. 14,
line from a description of the line? ¥y y
3 ; i3l
6. What makes lines look perpendicular on a graph? SN | e 1 !
—2=1 i I 2 3 L X =2=1
—72 =
=3 =3
<1> Slope-Intercept Form :
Write an equation for each line. Use slope-intercept form if
possible. See Example 1. 15 16
7 % 8.

¥ yi

Find the slope and y-intercept for each line that has a slope

1 12, and y-intercept. See Example 2.
'3 “ 19. y=3x-9 20. y=—5x+4
21 '*—lx+3 22 !*~l-x+2
- ) 7 - ) 4
»
23, y=4 24, y= —5

25. y=x 26, y= —x
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27. y=—3x 28. y = 2x 57, y=—3x+5 58, y= —dx + 1
29, x+y=5 30. x—y=4
3. x—2y=4 32. x+2y=3
%33.&—5}'=10 34, 2x+3y=9
35. 2x—y+3=0 36, 3x—4y—8=0
37. x= -3
2
38, Sx =4
3\
<2> Standard Form
Write each equation in standard form using only integers. 3 _3
See Example 3, ey 4F z % 60 3 = 2* 4
39. y=—x+2 40. y=3x—5
1 2 :
4., y==x+ Ly==x—4
3 2x 3 42, y 3x
3 1
. =" ) . s T R
43, y 3 44, y=<x
7
45. y= —Zx+ — Ly=—Zx—=
R AT %“ L *7%
47. =x+ 6 =0 48, —x—9=0
3 5 1 61. 2y +x=0 62. x+y=0
49. y=3 50. 3y =3
x_ 3y : £
51, = = LIZ=—
2 3 B2 8 5
53. y=0.02x+ 0.5 54, 0.2x = 0.03y — 0.1

(3> Using Slope-Intercept Form for Graphing
Graph each line using its y-intercept and slope.
See Examples 4 and 5.

See the Strategy for Graphing a Line Using y-Intercept and
Slope on page 204.

55. y=2x—1 56, y=3x—2 63. 3x—2y=10 64, 4x+3y=9




